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General Instructions :

(i)  First 15 minutes are allotted for the candidates to read the question paper,

(i)  All questions are compulsory.

(iii) Illustrate your answer with labelled diagrams, wherever necessary.

(iv) Marks allotted to each question are mentioned against it.
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(Multiple Cholce QUestions)

I. Choose the correct option and write it in your answer book .
(8) Cells of which layer of microsporangiu™ are binucleg, 2 3
(A) Epidermis
(B) Endothesium
(C) Middle layer

(D) Tapetum

(b} Mendel's finding related to inheritance of characters were rediscovered by : 1
(A) de Vries
(B) Correns
(C) von Tschermak

(D) Allof the above

(c) Ti plasmid vector is used to deliver gene of interest into which of the following

host 7 1
(A) Bacteria

(B) Animal

(C) Plamt

(D) Virus

(d) Which of the following is an example of commensalism ? 1
(A) Epiphytes
(B) Lichens
(C) Mycorrhizae
(D) All of the abgye
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(Very Short Answer TYpe Questions)
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Write the names of different parts of a typical stamen. 1
Name the hormone synthesised and secreted by Leydig cells. 1
What are alleles ? 1
Give names of any two artificial ecosystem. 1
Give a classical example of adaptive radiation. 1
(Fg-Ila yw - 1)
(Short Answer Type Questions —1I)

=g Jrafadear g @ 7 JeTe i | 1+41=2
~ffeaqizres 3 fafr= aea! &1 i g dfo 2
U et arop a7 AAiTRA fr =R 2
W ffog @n B 7 U 4@l gl mrma gl F Y ffig @ st e

it | 141=2
0 o “prdf srresta e W fof fafgo 2

[4018)



https://www.upboardonline.com/

oW
thY
()
(W

()

4. %)
(W)
(T
(&)
4. (a)
{b)
(c)
(d)

5. (W)
()

(m)

(1)

348(K1)

What is muliiple allelism ? Give example. 1e1m2
Give o briet pevount of difteremt components of moleatigy ,
Draw & well labelled diagenm of antibody mtﬂf”“l"- ‘ 2

What is age pyeamid *? Give s d{ugmmmnllc representation o age pyramid of an

expaiding human population, 1+1u2
Comment upon Gause’s “competitive exclusion prineiple®, 2
(org - Iveelyag st - 1)
(Short Answer Type Questlons —11)
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Describe the process and importance of nrtificial hybridization in brief. 1% +1%=3

Write a note on Intra-Uterine Devices (IUD's) and their applications. 1% +1% =3

Write u note on enzymes used in DNA replication, 3
Describe the law of independent assoriment in a dihybrid cross. 3
wrerferes vd fiefrrss ereftery 3 o AW Rvgoh R | 1%+ 1%=3
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Write shorl note o primary and secondary lymphoid organs. %4 1% =9 ._

Describe the Stfucture of a m:.ical biogas plant with the help of a suitable diagram.

2+1=3
Write short notes oy the following :
(i) Vaccination 1%
(i) Bio-fertilizer 1%
Describe the applications of r-DNA technology in medicine. 3
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(i) F.wu AEm 1%
(i) EET & ., 1%

Differentiate between innate immunity and acquired Immunity giving suitable

examples. 1% +1%=3

What are cloning vectors ? Write g ghort note on characteristics of cloning vectors,

1+2=13

What are transgenic animals ? Degcribe the benefits of transgenic animals in

bnef 1+42=3
Write short notes on the fﬂllowing :
(i) DNA Palindrome 1%

{“} Cﬂ.ﬂ'}”ng capacit)f 1%
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(Long Answer Type Questions)
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Briefly describe the role of hormones in follicular and luteal phase of menstrual cycle in

~female primates.

OR
Write short notes on the following :
(1)  Types of pollination in flowering plants

(1) Mammary gland
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Briefly describe the mechanism of transcription in prokaryotes.

OR

Write short notes on the fo]lowing :

(i)  Genetic code

(i)  S.L. Miller’s experiment regarding origin of life,
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9. Give a brief account of different population growth models. 5
OR
Describe in detail, energy flow in an ecosystem. 5
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